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2 210 FHFHLI%Y
& 21 AlEE40 (el &e)
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ES Al 45,403,930 30,484,875 14,919,055
200 Al2l4-g) 11,988,500 10,653,418 1,285,082
210 S&HAI2l = 11,516,450 10,653,418 863,032
212 Aga4e 9,004,908 8,488,373 516,530
212-03 St=AIEE 1,602,925 1,380,834 222,091
[ Bt=E3019 ] 1,602,925 1,380,834 222,091
< ABHAETMIE > 1,602,925 1,380,834 222,001
motE S 742,585
@IE 28t 9,8002145, 5001+ 1224 646,800
@418 +80t 9,8002+1 6207 x62 %,785
CIE=Nele= 775,200
@IIE =0t 13,600& *4, 7008 « 12& 767,040
@as =ZIt 13,6002 *100&1«6& 8,160
DEELES 39,960
@IIE =&t 555,000 x6& * 128 39,960
mE== 45,180
OF = 1,882,500 =28« 12& 45,180
212-04 A= AEE 7,401,978 7,107,539 294,439
[ dE301e ] 7,401,978 7,107,539 294,439
< ABHAETMIE > 7,401,978 7,107,539 204,439
moHE S 3,067,362
@=Lt 13,2102 19,0008 122 3,011,880
ONFERR=3] 13,2102 4700 +6} 2 55,482
CIE=Nele= 4,275,000
@IIE =0t 75,0002 4, 7008 123 4,230,000
@as =ZIt 75,0002 *100& «6 45,000
CEER 50,616
@IIE =&t 828,000 x6& * 128 59,616
213 £4240 5,320 0 5,320
21305 JIEt=s=& 5,320 0 5,320
[ 4+=E301g ] 5,320 0 5,320
< alots=ZdlH > 5,320 0 5,320
OSSR 5,320
@B4BA M 242 2,660
(====2(15~32m) 2,000& 1,270 2,540
()44 2 (40~50mm) 4,0002*30 120
@34BM EB 242 2,660
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(1442 (15~32m) 2,000 %1,270% 2,540
(=42 (40~50mm) 4,000& *30& 120
214 At 42 2,478,227 2,128,045 350, 182
214-05 J|EFAIS =2 2,478,227 2,128,045 350, 182
[ 42E201Y ] 2,078,227 1,728,045 350, 182
< AGHEZHIE > 2,078,227 1,728,045 350,182
WMASER HE)| L B85S 42 258,227
O¥:IE=P) 78,435
C15mm 51,4902 *1,000H 51,490
[120mm 66,2002 180 11,916
[125mm 86,0002 x45% 3,870
[132m 120, 90094 453 5,440
(J40mm 166,8002 * 15X 2,502
[150mm 21450024 % 15 3,217
25E 179,792
C15mm 117,2002*1,000H 117,200
[120mm 158,900 x180%! 28,602
[125mm 188,0009 453 8,460
[J32mm 277, 4003 *45H 12,483
(J40mm 401,8002 %15 6,027
[150mm 468,0002 %15 7,020
mAEE SHSAH L 1,400,000 +1,300% 1,820,000
[ 3I=E201Y ] 400,000 400,000 0
< ASHEZHE > 400,000 400,000 0
CIERPNE==, 400,000,000 #1241 400,000
216 Ol Rt 28,000 37,000 29,000
216-01 330201 K== 8,000 37,000 A29,000
[ AE2I|Y ] 8,000 37,000 A29,000
< ASHZHE > 8,000 37,000 A29,000
w02 0Kt 8,000,000 14! 8,000
216-03 J|E+O| Xt4=2l 20,000 0 20,000
[ BI=E201Y ] 20,000 0 20,000
< ASHEZHE > 20,000 0 20,000
CIle A== 20,000,000 * 14! 20,000
220 LAFAI2I4L 40,000 0 40,000
25 XA =42 40,000 0 40,000
22501 Xt =42 40,000 0 40,000
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[ 44221 ] 30,000 0 30,000
< MGHEZME > 30,000 0 30,000
WASTAIEE 08 MY I 30,000,002 %14 30,000
[ GHE2019 ] 10,000 0 10,000
< MBHZME > 10,000 0 10,000
WO EAIEE Ol B4 10,000, 00084141 10,000
200 NSHHHM - 203 382,050 0 382,050
26 23 382,050 0 382,050
236-01 e 382,050 0 382,050
[ 442301 ] 382,050 0 362,050
< MOHEZHE > 382,050 0 382,050
WS4TA /oK 23 382,050
© 15m 198,00024+1,0008 198,000
©20mm 330, 0002 <180 59,400
©25m 620,000 <45 27,900
@32m 950, 0008 «45% 42,750
®40mm 1,200, 0008158 18,000
@50 2,400, 000215 36,000
50 2E2 16,330,620 6,332,200 9,998,420
510 2N2EZS 13,371,000 5,717,200 7,653,800
511 202X3S 13,371,000 5,717,200 7,653,800
511-01 2 D23 13,371,000 5,717,200 7,653,800
[ GHE301 ] 13,371,000 4,367,200 9,003,800
< MBHEEHE > 13,371,000 4,367,200 9,003,800
molste| stH2lAlE HXI 1,580,000, 000! x 14! 1,580,000
mAISR] SHH2IAIE HX 279,000,000 %14 279,000
WY StH2IAL LR 1,526,000, 00021 %14 1,526,000
WOIS GHH2lAlE A 2,270,000,00021%14! 2,270,000
WEXI2| SHH2IAIL L 670,000,0002!#14! 670,000
WSIT Sl Ba 100,000, 00024141 00,000
DY sH2AL Sa 100,000, 00024 14! 00,000
e SH2AL A 300,000, 00084 * 14! 300,000
WOIBIBHRIZ T G | 5,496,000,00021 %14 5,496,000
WEALY GHRIE | 258,000,000 %14 258,000
mEHOIE =EGHZ HHI(2X}) 492,000, 0002 14! 492,000
mEHAS GHRE | 150,000, 00024 14! 150,000
W E SR | 150,000, 00024141 150,000
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520 Al - EHIEXZ2ES 2,959,620 615,000 2,344,620
521 Al - SHIEAZS 2,959,620 615,000 2,344,620
521-01 Al - SHIBXZ2S 2,959,620 615,000 2,344,620
A3 ] 48,620 0 48,620
< Mot=Tdly > 48,620 0 48,620
mEEUSIAIY S+2 Sgf2tal 48,620,000 *14] 48,620
[ Of=E=301e ] 2,911,000 615,000 2,296,000
< Mot=Tdly > 2,911,000 615,000 2,296,000
mol&te| StHelAld X 339,000,000 *14! 339,000
mAIS2| St=XMelAld X 60,000,000 14 60,000
mEZ ot=XelAld &X 327,000,000& * 14! 327,000
mOtS GHEXICIAIE &R 486,000,000+ 14 486,000
mZX2| ot=HelAld &X 60,000,000 14! 60,000
WS otXelAlE S& 21,000,000& * 14! 21,000
w0 St=XelAd B4 21,000,000& *14! 21,000
wEE St=XelAd B4 100,000,000 14! 100,000
motH3X el =+ ot==2t2 FH| 1,178,000,000 14 1,178,000
WUHALE S22 | 55,000,000 14 55,000
mEiot? =5t 2 HU|(2X) 164,000,000 14! 164,000
mot~= of2t2 | 50,000,000& 14! 50,000
WP E S22 FH| 50,000,000 & 14! 50,000
700 EH-USLHEHAN 17,134,810 13,499,257 3,635,553
710 B82S 500,000 800,000 A300,000
1M 2= 500,000 800,000 300,000
71101 =MIAHL 0= 500,000 800,000 A300,000
[ =309 ] 500,000 500,000 0
< Aot dlE > 500,000 500,000 0
mE=AHALHZ 500,000,000 *14] 500,000
720 LHS2 D1 cH 16,634,810 12,699,257 3,935,553
721 83 16,634,810 12,699,257 3,935,553
721-03 JIEFSI AN Y S 16,634,810 12,699,257 3,935,553
[ &4+E3019 ] 3,379,822 2,040,275 1,339,547
< Aot=THIE > 3,379,822 2,040,275 1,339,547
mALSIH MU= 3,379,822,000 14 3,379,822
[ Bl==301Y ] 13,254,988 10,658,982 2,596,006
< Aot=THIE > 13,254,988 10,658,982 2,596,006
mALSIH MU= 13,254,988,000& * 14! 13,254,988
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